B ERAENBES FEXE BB T
JL =1 =1 =1 \ = = /EEHE/@—E
HE | BRRE (IR (IR RIERL RIS i s crEEREE g s Lk [gasnne
B AR [FREEXEE AR AR 4.5 2 61 01 0 2.1 571.5
3H3IH | — |8 Bk |ERET (mEERE EHE BFSE [ BHEEEES 6 3 21 o | 1 3 890
Mg 0K |[RRRG |[ENEE  |HEEE BRSHRE | BRARE | 61 3 18] 0| 0 2.8 817
FEHE |[AgWE =86 RALL 5 2 071 0 | 0 1.5 570
ARIH | = |8 (A [FREHA  |BIREEEX DERTFE |RNSHiE BRSNS 6 3 2 1l 0] 0 2.9 822.5
Mg |HeR  |[REEAT | b VFREER BFSRE |BREES 6.3 3 18] 0] 0 3.1 853.5
B& REH KEH Hi LD 4.5 2 11 0| 0 1.5 542.5
4A28 | = |8 AR [REZERA |NE a4 SR (BRES 6 3 21l 0] 0 3.2 845
B |HER | EHERE |HEN /N REENIER B S BRK [EAE 6.2 3 221 0 | 0 3.1 856.5
B 0
AF3H | M & 0
R 0
28 0
448 | 2 |8 0
IR 0

AR —EREABEFN
FEAEN - 28

K INFERE H MG eI > OB B R B B A A




